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Between whom was the
‘Gentleman’s Agreement’ signed ?
(1) Hiralal Shastri and Mirza
Ismail :
Jamnalal Bajaj and Jaipur
Maharaja
Haribhau =~ Upadhyaya
Mahatma Gandhi
Manikya Lal Verma and
Mewar Maharaja
Question not attempted

and

@3)
(4)
()

Which statement/s is/are correct
about folk God and Goddesses ?
(A) They can be approached by

devotees more directly with the
faith.

They will be able to intervene
the most ordinary problems of
everyday life of devotees.

Folk Gods and Goddesses do
not teach
salvation.

B

©

about personal

Choose the correct answer code :
(1) (A and(C) (2) Only(A)
(3 Only(B) (4 (A)and(B)
(5) Question not attempted

Identify the painting style/styles
where the Rasraj, a literary work of

Matiram, is used as a subject :
(1) Jodhpur

(iii) Alwar

(1) dJaipur
(iv) Bikaner
Choose the correct code :

(1) Only () (2) Only (iv)
@) OD&Gv) (@) (i) & (iii)
(5) Question not attempted
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T+T+T-TxT=17

1) +w@-

2 +wW+

(8) +Wx

4) +Wx

(5) St

(A) . i mioms S i e et s T s s Y

Pointing to a girl in a photograph,
Mahesh said, “Her mother’s brother
is the only son of my paternal
grandfather”. How is girl’bs mother
related to Mahesh ?

(1) Niece

- (2) Sister
“. (8) Mother
-, (4)° Aunty

(5) Question not attempted

If the third day of September is
Saturday, which of the following
would be the last day of the next
month ?

(1) Saturday

(2) Sunday

(3) Monday

(4) Tuesday

(6) Question not attempted

.12 Which of the two signs need to be

__interchanged to make the following

mathematical equation correct ?

T+7+T-TxT=17

(1) +and-
. (2) +and~+
'(8) +and x

(4) +and x

(5) Question not attempted
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(1) 50

@) 45

(3) 40

(4) 60

(5) g S

g |
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The following data are related to
the per day income of 90 persons :

Income (in ) | No. of Persons
500 — 999 29
- 1000 -1499 | 16
1500 — 1999 8
2000 — 2499 37

What is the percentage of persons
whose per day income is ¥ 1,500 or
more ?

(1) 50
2) 45
(3) 40
(4) 60
(5) Question not attempted'

sk ot
Ifa+b+c—manda+b+c—0,

then Arithmetic Mean of a2, b2, c? is

(1) m?
@ =
@ =
@ =

"(6) Question not attempted

The median of the first twelve
prime numbers is

(ly.-13
2 14
3 15
(17 _ |
(5) Question not attempted
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1 5

@ 4

3) 3

4) 16

(5) IrFaRa ¥=

10.

11.

12,

The value of

(2_43)0.13 X (243)0.07 X (10)0.26 ;
(7)025 X (49)0.075 X (343)0_2 18

(1) 1
3

o
o @

(6) Question not attempted

— 4(5x - 3)2 = 11(5x — 3)

o
(7Tx + 1), then the values of = ;

If 3(7x + 1)2

(wherex¢§ 7) are
(1) -3,
@ -3
@ 3,3

(4) 3 —4
(6)

Question not attempted

The simultaneous equations ax + 2y
= 15 and 2x + by = 25 has unique
solution, where the values of
variables are equal but of opposite
signed, then (5a + 3b) is equal to

1) 5

2 4

@ 3

(4) 16

(5) - Question not attempted
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(1) 0.5 3

2 13

(3) 1.53
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(1) 362 n a2

(2) 383 nai?
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13.

14.

15.

-4)

A square shaped hollow tube opened
at both ends is made up of iron. The
side of the internal square is of 5 cm
and length of the tube is 8 cm. If the
volume of iron used in the tube is

192 cm3, then the 'thickness of the

tube is :

0.5 cm

lcm

1.5cm

2cm

Question not attempted

(1)
2
3)
4
()

Using the base of a solid cylinder

with height 15 cm and diameter 16
¢m, a cone is cut having height 4 cm

«and radius 3 cm. The total surface

area of the remaining solid is
(1) 862 ncm?
(2) 383 1 cm?
(3) 359 mcm?
374 n cm?

Question not attempted

()

Two solid spheres made up of same

metal weigh 1 kg and 7 kg. The
radius of the smaller sphere is 3 cm.
Both the spheres are melted to form
a single big sphere. The diameter of

~new sphere is
(1)
2)

6 cm
9cm
12 cm

15 cm

3
4
(®)

Question not attempted
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22.

o
&

Fill in the blanks with the correct
use of the sequence of tenses :

He always his keys.

(1) 1is, losing

(2) was, to lose

(8) does, losing

(4) has, loses

(5) Question not attempted

Fill in the blank with the correct
determiner :

What does
(1) these
(2) those
(3) that

(4) some

notice say ?

(5) Question not attempted

Fill in the blanks with the correct
prepositions :

I had to show my pass the
man the door.

(1) at, with

(2) at,at

(3) to,at

(4) to, into

(5) Question not attempted

Choose the correct antonym for the
given word :

BENEFIT

(1) Usage

(2) Damage

(3) Advantage
(4) Vantage
(5) Question not attempted
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25.

26.

27.

Recently Finance Minister of India
launched “NPS Vatsalya Scheme”.
What is the primary objective of
this scheme ?

(1) To help parents and guardians
plan for their children’s future
financial needs.

To offer education loans to
students for higher education.
To provide health insurance
for the children.

To develop habit of saving
among children.

(5) Question not attempted

Under the SUBHADRA Scheme
recently launched in Odisha, all
eligible beneficiaries between the
age of 21-60 years will receive what
amount over a period of 5 years
between 2024-25 to 2028-29 ?

(1) T50,000 (2) 25,000

(8) 55,000 (4) 45,000

(5) Question not attempted

As of 2024, which of the following is
the largest contributor to India’s
renewable energy capacity ?

(1) Solar Energy

(2) Wind Energy

(3) Hydropower

(4) Biomass Energy

(5) Question not attempted

As a dual engine for developing
world class health-care services and
promoting tourism, recently which
policy has 'been developed by
Rajasthan dedicated to promoting
medical value travel in the state ?
(1) Heal in Rajasthan 2024

(2) Fitness in Rajasthan 2024

(8) Healthy Life 2024 ‘

(4) Rajasthan Fit 2024

(6) Question not attempted

@)
3
(4)
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(D)

Recently Department of Space and
Technology has launched “Women

"in-Space Leadership” program with

whose collaboration ?
(1)
(2)

American Council
British Council
Russian Council
German Council

(4)
()

Consider the following statements
regarding launching of Earth
Observation Satellite EOS-08 and
choose the correct option regarding it :
Statement - A : It is launched by
SSLV-D3  from Satish Dhawan
Space Centre, Shriharikota.
Statement - B : EOS-08 carries
two payloads.

Statement-C : X band data

transmission has been used in EOS-
08.

Question not attempted

All the three statements are true.

Statement A and B are true
but Statement C is false.

Statement B and C are true
but Statement A is false.

Statement A and C are true
but Statement B is false.

Question not attempted

)
@)
(4)
®)

Which Central Ministry has

recently organized the International

WASH Conference 2024 ?

(1) Ministry of Jal Shakti

(2) Ministry of Agriculture

(3) Ministry of Environment,
Forest and Climate Change

Ministry of New and
Renewable Energy

Question not attempted -

(4)
()
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31.

32.

33.

DAE (Department of Atomic Energy)
Conclave 2024 is organised by

(1) National Institute of Science
Education and Research,
Bhubaneswar

(2) Indian Institute of Science,
Bengaluru

(3) Bhabha Atomic Research
Centre, Mumbai

(4) Nuclear Fuel Complex,
Hyderabad

(6) Question not attempted

Recently Hon'’ble President of India
has been honoured by conferring
their highest Civilian Awards by
which of the following countries ?

A. Fiji

B. New Zealand

C. Timor-Leste

Choose the correct answer by using
the code :

(1) ‘OnlyA

(2) OnlyB

(83) Only AandC

(4) Only Band C

(5) Question not attempted

In which weight category, Aman
Sherawat won bronze medal during
Paris 2024 Olympics Wrestling
tournament ? :

(1) 53k.g.
2 57k.g.
(3) 50k.g.
(4) 47kg
(5) Question not attempted
00
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36.
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)
=

Which of the following would weigh
highest ?

(1) 0.2 mole of sucrose (C,,H;,0,,)
(2) 2 moles of CO,

(3) 2 moles of CaCO,

(4) 10 moles of H,O

(6) Question not attempted

In which of the following compounds
—OH is the functional group ?

(1) Butanone

(2) Butanol

(3) Butanoic acid

(4) Butanal

(5) Question not attempted

Newton’s third law of motion states
that the action and reaction are
equal and opposite and

(1) act on the same body.

(2) always produce accelerations
of equal magnitude in each
body.

act on two different bodies
only when they collide.

act on two different bodies
under mutual interaction.
Question not attempted

3)
4

(6)

Which of the following is a growth
inhibitor hormone in plants ?

(1) Gibberellin (2) Cytokinins
(3) Auxin (4) Abscisic Acid
(5) Question not attempted

Which of the following does not
belong to the category of threatened
species of plants and animals
classified for the purpose of
conservation by International Union
of Conservation of Nature and
Natural Resources IUCN) ?

(1) Endangered species

(2) Vulnerable species

(8) Rare species

(4) Extinct species

(5) Question not attempted
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39. In

40.

which of the following
judgements, the Supreme Court has
said that the Preamble is not a part
of the Constitution ?

(1) Sajjan Singh V/s. State of
Rajasthan

(2) Golaknath V/s. State of
Rajasthan

(3) Bharati Chandra Bhavan V/s.
State of Mysore

(4) Berubari Case

(5) Question not attempted

Identify the correct statement

regarding the Election Commission
of India.

(1) Election Commission of India
is a permanent Constitutional
Body and it was established
in accordance with the
Constitution on 25t January,

1952.
@)

The concept of multi-member
Commission has been in
operation since 1990 with
decision making power by a

majority vote.

(3) Ramadevi was the only
woman Chief Election

Commissioner in India.

(4) The President appoints Chief
Election Commissioner and
Election Commissioners and
they have tenure of five years,
or upto the age of 60 years,

whichever is earlier.
(5)

Question not attempted
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43.

!
l
|
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41.

42.

@

Which of the following combination

of Prime Ministers of India have

never been the Leaders of the Rajya

Sabha of Parliament since 1952 ?

(1) * Lal Bahadur Shastri and V.P.
Singh

2 LK. Gujral and Manmohan

3

Gowda
Manmohan Singh

(4) - Indira Gandhi and Narendra
Modi

(6) Questionnot attempted

Which of the following statement

regarding Parliamentary

Committees is incorrect ?

(1) Parliamentary Committee
means a committee which is

appointed or elected by the
House or nominated by the

and

Speaker.

(2) Parliamentary Committee
works under the direction of
the Speaker.

(3) Parliamentary Committee
presents its report to the
House or to the Speaker and
the Secretariat.

(4) Parliamentary Committee
presents its report to the
Prime Minister.

(5) Question not attempted

A motion to impeach a Judge of the

Supreme Court has to be
investigated by a committee
comprising of

(1) One Judge of the Supreme
Court and two distinguished
Jurists.

Two Judges of the Supreme
Court and one distinguished
Jurist. ' o :
Two Judges of the Supreme
Court and two distinguished

. Jurists. _
Chief Justice of the Supreme
Coutrt, one dJudge of the
Supreme Court and one
distinguished Jurist. -
Question not attempted
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44.

45.

46.

47.

48.

The difference between East-West

and North-South extention of
Rajasthan is

(1) 46 k.m. (2) 52k.m.

(38) 48k.m. (4) 43 k.m.

(6) Question not attempted

Consider the following statements
and select the correct answer using
code given below :

Oriya Plateau is situated just
below the Guru Shikhar.
Chhappan Plain is a part of
Banas Basin.

Girwa hills are characteristic
feature of Udaipur Basin.
Mukandra hills are situated
between Kota and Baran
districts.

Codes :

(1) A BandC (2) AandC

3 B,CandD (49 CandD

(6) Question not attempted

&=

C.
D.

Which is not a correct match ?

Tributaries River
(1) Mansi and Khari - Banas
(2) Ujar and Ahu — Kalisindh

(3) Chap and Jhakam — Mahi
(4) Mej and Sagi — Chambal
(5) Question not attempted

Copper mines of Kushalgarh,
Senpari and Bhagat ka Baas are
located in which of the following
district ?

(1) Jhunjhunu (2) Alwar

(3) Bhilwara (4) Kota

(5) Question not attempted

Which is the incorrect pair ?

Breed Livestock
(1) Gir - Cow
(2) Magra — Sheep
(3) Shekhawati — Goat
(4) Surti — Camel
(5) Question not attempted
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50.

51.

52.
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- 49.

50.

51.

The leader divides the work among
the people. This comes under which
function of leadership ?

(1) Motivational

(2) Executive

(3) Cooperation

(4) Goal setting

(5) Question not attempted

In which aspect of institutional
planning is prayer-assembly included ?
(1) Educational aspect

(2) Co-scholastic aspect

(3) Physical aspect

(4) Parental aspect

(5) Question not attempted

The supervision which is based

. upon practice like ‘I told him to do

2 @)
@

52.

HOoWpE

-~ ©

this’ is

Inspirational supervision
Creative supervision

3)
(4) Preventive supervision

(5)

Given below are principles of
management. Which principles
were suggested by Henri Fayol ?

Autocratic supervision

Question not attempted

Remuneration
Division of labour
Span of Control
Discipline

Unity of Command

Choose the correct option from the
codes given below :

Codes:

(1) A, B,Conly
A, B, D, E only
A and C only
C only

3)
4)
(5)

‘Question not attempted
o
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54.

55.
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53.

54.

55.

What does mean the letter ‘D’ in
“POSDCORPB” formulae for
Educational Administration given
by Luther Gulik ?

(1) Co-ordinating (2) Directing
(3) Distribution (4) Developing
(5) Question not attempted

Samagra Shiksha Scheme aims to
ensure quality education with an
equitable and inclusive classroom
environment. This aim is as per

which Sustainable Development
Goal (SDG) ?

(1) SDG -4 (2) SDG-5

(3) SDG-3 (4) SDG-2

(5) Question not attempted

Which of the following statement

~ related to DIKSHA Portal is not

correct ?

() Teachers can give online
' education to their students
through this portal.

This portal can be used only by
teachers.

(b)

(¢) National Digital Infrastructure
can be accessed only after
scanning the QR code given in

their NCERT books.

Text content cannot be stored
and share without internet
connectivity.

(d)

Select the correct answer using the
codes given below :

Codes :

(1) Statement (b) and (d)
(2) Statement (a) and (b)
(8) Statement (c) and (d)
(4) Statement (a) and (c)
(6) Question not attempted
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56.

57.

58.

Rajasthan State Open School
provides the facility of selection of
how many subjects out of the
prescribed subjects in class 10tk and
12th°?

(1) ~ 3 (three)

(2) 4 (four)

(8) 5 (five)

(4) 6 (six)

®)-

Question not attempted

When did Rajasthan State Textbook

Board formally came into existence ?

(1) 29t November, 1973
2)
®)
4
OF

29th December, 1973
01st January, 1973
01¢t January, 1974

Question not attempted

Which of the following is not a
division of the Council of RSCERT ?
(1) Educational Survey, Research

and Policy Perspective
... Division

(2)35 Mass Communication Services

'Division

(8) . Teacher Education Division

(4) Planning Management and

Finance Division

()]

Question not attempted
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59.

60.

61.

As per norms and standards for a

~school, as mentioned in RTE Act,

the instructional hours per
academic year for sixth to eighth
class are

(1) 100

(2) 1000

(3) 1200

(4) 200

(5) Question not attempted

According to RTE Act, 2009, Art. 19
and 25 Norms and Standard, if any
school of class 1 to 5 have 130
students
teachers will provide ?

(1) 3 2 5

3 4 4 6

(5) Question not attempted

enrolled, how many

What is the name of Rule framed by
Govt. of Rajasthan to implement
Right of Children to Free and
Compulsory Education Act 2009 ?

(1) Rajasthan Right of Children

to Free and Compulsory
Education Rules 2009

Rajasthan Right of Children
to Free and Compulsory
Education Rules 2010

Rajasthan Right of Children
to Free and Compulsory
Education Rules 2011

Rajasthan Right of Children
to Free and Compulsory
Education Rules 2012

Question not attempted

)

@)

4

(®)
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62. In RTE Act, a child belonging to

‘disadvantaged group’ as per state
government means

A.  Anorphan
B. A child of war widow

C. @A child or whose parent or
guardian is HIV/Cancer
affected person.

D. A child or whose parent or
guardian is
affected person.

any disease

Choose the correct option from the
following code :

Codes :

(1) Aand Bonly

(2) A, BandD only

(3) B and C only

(4 A, BandC only

(5) Question not attempted

. Which of the following function is

not ‘of School Management

Committee as per RTE Act in

Rajasthan 7

(1) Prepare and recommend
school development plan

ensure that teachers
perform their duties specified

. by or under Section 24

(83) Monitor the working of the
school

(4) Issue and monitor the
utilisation of grants received

(5) Question not attempted
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64.

65.

66.

67.

4

Which of the following works was
composed during Gupta period ?

(1) Brihatkatha

(2) Kavyamimansa

(3) Swapnavasavadatta

(4) Chandra Vyakaran

(5) Question not attempted

The Jahangir Palace is located in
which of the following forts ?

(1) Fort of Agra

(2)
3)
(4)
(5

Fort of Ajmer
Fort of Allahabad
Fort of Lahore

Question not attempted

Hindustan Socialist Republican
Association did not have a role in
which of the following activities ?

(1)
@)
3)

Saunders Murder
Kakori Incident

Throwing a bomb in the
Central Legislature
(4) Attempt to bomb Irvine’s
train ‘

(5)

Question not attempted

Who among the following was
associated with the Azad Hind Fauz
at its initial stage ?

(1) Ras Behari Bose

(2) - Chandrashekhar Azad
(3) Shyamji Krishna Verma
Sachindra Sanyal.

®)

Question not attempted
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68.

69.
' Sardar Vallabhbhai Patel ?

21

70.

Read

the following statements

about Bipin Chandra Pal :

A

B.

He published a fortnightly
magazine Kaumudi in Bangla.
He also served in the editorial
department of the ‘Tribune’
published from Lahore.

Choose the correct code :

(1)
)
3)
@

®)

Only statement ‘A’ is correct.
Only statement ‘B’ is correct.
Neither ‘A’ nor ‘B’ is correct.

Both the
correct.

statements are

Question not attempted

Which statement is not true about

ey

(2)

3

(4)

6

Which

He was the Deputy Prime

Minister in the Interim
Government.
Sardar Vallabhbhai Patel

rejected any agreement that
would not completely cede
defence and external affair to
the Govt. of India.

He helped to draft an
Instrument ~of  Accession
which was acceptable to the
princely states. :
He was the
Advisor to
General.
Question not attempted

Constitutional
the Governor

was explored by

Archaeologist ‘Neelratan Banerjee’ ?

(1)
3
(5)

Bairath (2) Ahar
Kalibanga (4) Ganeswar

Question not attempted
g




71.

72.

73.

74.

75.

ﬁ'l?! A ¥ B 91 IEs Ueearg’ a9 F | 71. Who among of the following rulers
ST ST AT 7 was known as “Rohilladdhi” ?

(1) s (1) Harishchandra

@ @ Raiiil

(8) TImMEI (8) Nagbhatta I

(4) TYTA (4) Mathandev

(5) IR T (6) Question not attempted
FEged I JEIHAT B AT 7 72. Who was the Chief Minister of
(1) argw@on Kanhaddev ?

9) 3 (1) Devra Surthana

@ iad (2) dJaita Devra

@) fwmgs (8) Vikram Dev

(4) TN (4) Padmanabh

(5) TR T (6) Question not attempted
oI T < Balt waEf R R 7 73. Where is Rana Sanga’s Cenotaph
(1) Hrerdt @2 Feer (Chhatri) located ?

(1) Kalpi (2) Chittorgarh

ol @ e (3) Mandalgarh (4) Erichpur

(6) AT I (5) Question not attempted

1857 I wifd 4 Reary fig 3 YT | 74. Shivnath Singh played a role in the
g oft | o' frafafes & @ frg 5oy revolution of 1857. He was from
A7 ' which of the following ‘Thikana’ ?

(1) 3mEy (2) TR | (1) Aasopa (2) Gular

(8) wwiaTET (4) wF l (3) Kothariya (4) Salumbar

5 prr ) (6) Question not attempted

(5) .
USRI WT9T T YU Toifosh g9rr- | 75. Which of the following was the first
o hefofga g asmarar 7 political newspaper published in
(1) cieamh @ A I Rajasthani language ?

(1) Lokvani (2) Agivan

3) SR 4) M |

@ @ ! (8) Jaidhvani (4) Jaibhumi

L) T i | (5) Question not attempted
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